

महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे Maharashtra State Board Of Secondary and Higher Secondary Education, Plune

अमरावती विभागीय मंडळ / AMRAVATI DIVISIONAL BOARD

माध्यमिक शालान्त प्रमाणपत्र परीक्षा - गुणपत्रक

SECONDARY SCHOOL CERTIFICATE EXAMINATION - STATEMENT OF MARKS

SECONDA	RY SCHOOL C	ERTIFICATE EXAM	MINATION STATE	क्री म अस्त्रमांक
आसन क्रमांक SEAT NO.	केन्द्र क्रमांक CENTRE NO.	जिल्हा व शाळा क्रमांक DIST. & SCHOOL NO.	परीक्षेचा महिना व वर्ष MONTH & YEAR OF EXAM.	गुणपत्रिकेचा अनुक्रमाक SR.NO. OF STATEMENT
H096128	1624	04.08.002	MARCH-2011	094375
11000120	1024	04.00.002	MINUTE	

उमेदवाराचे संपूर्ण नाव (आडनाव प्रथम) / CANDIDATE'S FULL NAME (SURNAME FIRST)

Raut Shyam Sudhakar

उमेदवाराच्या आईचे नाव / CANDIDATE'S MOTHER'S NAME Geeta

Common with Co	क क्रमांक व विषयाचे नांव	HELLE	कमाल	प्राप्त गुण किंवा श्रेणी / Marks or Grade Obtained		
	Subject Code No. and Subject Name		गुण Max. Marks	In Figures	In Words	
01 MARAT	HI (1ST LANG)		100	073	SEVENTYTHREE	
27 SANSKI	RIT (2/3 LANG)		100	064	SIXTYFOUR	
17 ENGLIS	H (2/3 LANG)		100	064	SIXTYFOUR	
71 MATHE	MATICS		150	052	FIFTYTWO	
72 SCIENC	E & TECHNOLOGY		100	057	FIFTYSEVEN	
	SCIENCES		100	075	SEVENTYFIVE	
K7 INFORM	MATION TECHNOLOG	SY		В		
P1 HEALTI	H & PHYSICAL EDUCA	ATION	•	A		
P6 SOCIAL				- A		
	NALITY DEVELOPME	NT	•	A		
	NMENT EDUCATION			A		
Result / निकाल PASS	£Percentage/टक्केवारी 66.60	एकूण गुण / Total Marks	500	333	THREE HUNDRED AND THIRTYTHREE	

S111594375



3914309766278



विमानीय सचिव/Divisional Secretary

महाराष्ट्र राज्य माध्यमिक व उच्च माध्यमिक शिक्षण मंडळ, पुणे Maharashtra State Board Of

Secondary and Higher Secondary Education, Plune

अमरावती विभागीय मंडळ / AMRAVATI DIVISIONAL BOARD उच्च माध्यमिक प्रमाणपत्र परीक्षा – गुणपत्रक

HIGHER SECONDARY CERTIFICATE EXAMINATION - STATEMENT OF MARKS

STREAM	आसन क्रमांक SEAT NO.		जिल्हा व उन्ता.माध्य शाळा क्रमांक DIST.& HR.SEC.SCHOOL NO.	परीक्षेचा महिना च वर्ष MONTH & YEAR OF EXAM.	गुणपत्रिकेचा अनुक्रमांक SR.NO. OF STATEMENT
SCIENCE	V019044	0635	04.08.005	FEBRUARY-13	066996

उमेदवाराचे संपूर्ण नाव (आडनाव प्रथम) / CANDIDATE'S FULL NAME (SURNAME FIRST)

Raut Shyam Sudhakar

उमेदवाराच्या आईचे नाव / CANDIDATE'S MOTHER'S NAME Geeta

विषयाचा सांकेतिक क्रमांक व विषयाचे नांव Subject Code No. and Subject Name		*माध्यम	कमाल गुण	प्राप्त गुण / Marks Obtained		
		Medium	Max. Marks	In Figures	In Words	
54 PHYSICS	02 MARATHI 40 MATHEMATICS & STATISTICS 54 PHYSICS 55 CHEMISTRY		100 100 100 100 100 100	052 074 035 039 044 044	FIFTYTWO SEVENTYFOUR THIRTYFIVE THIRTYNINE FORTYFOUR FORTYFOUR	
31 ENVIRONMEN	NT EDUCATION (GRAD	E) A				
Result / निकाल PASS	Percentage / टक्केवारी 48.00	एकूण गुण / Total Marks	600	288	TWO HUNDRED AND EIGHTYEIGHT	

H130351996

4917089217659

पहल्याचे, टीप, पर्याचरण विषयातील क्षेत्री आणि चित्रांची माहिती बांचा तपतील मापील पृष्टाकर पहाचा.

See overled for Important, Notes, Grades in Environment Education Subject and meaning of special characters.



Palli

विभागीय सविव/Divisional Secretary



VASANTRAO NAIK MARATHWADA AGRICULTURAL UNIVERSITY (वसंतराव नाईक मराठवाडा कृषि विद्यापीठ) PARBHANI 431 402 (MS)

PROVISIONAL DEGREE CERTIFICATE

Registration No. 2013 FT 48 B

This is to certify that

Raut Shyam Sudhakar

Student of the College of Sau K.S.K. alias 'Kaku' Food Technology, Beed

has been examined for the Degree of

(Food Technology)

and adjudged to have passed with a Cumulative Grade Point Average 8.25 in the

10.00 point scale, equivalent to First Division in the

month of May, 2017.

Krishi Nagar, Parbhani
Date 1 1 JUL 2017

Deputy Registrar (Academic)
VNMKV, Parbhani

COURSE NO.	TITLE OF THE COURSE	CREDITS	GRADE POINTS REDUCED TO 10 POINTS	CREDIT POINTS (CREDIT X G.P)	
	V Semester				
FST-3513	Food Industry By-products and Waste Utilization	2	8.3	16.6	
FST-3514	Carbonated Beverage Technology	2	7.3	14.6	
FE-358	Refrigeration Engineering and Cold Chain	3	7.7	23.1	
FE-359	Biochemical Engineering	3	7.8	23.4	
FE-3510	Instrumentation and Process Control	3	8.7	26.1	
FIM-355	Food Biotechnology	3	7.8	23.4	
FTBM-351	Co-operation, Marketing and Finance	3	7.8	23.4	
FTBM-352	Business Management and International Trade	2	7.9	15.8	
	VI Semester				
FST-3615	Product Development and Formulation		7.6	15.2	
FST-3616	Speciality Foods	3	7.9	23.7	
FST-3617	Extrusion Technology	2	8.5	17.0	
FST-3618	Quality Assurance and Certification	3	7.0	21.0	
FE-3611	Food Plant Design and Layout	3	8.9	26.7	
FIM-366	Food Hygiene and Sanitation	3	7.3	21.9	
FTBM-363	Entrepreneurship Development and Communication Skills	2	8.6	17.2	
FTBM-364	Food Laws and Regulations	3	6.9	20.7	
FTBM-365	Seminar	1	9.0	9.0	
	VII Semester				
	Experiential Learning Programme(Hands on Training	25	8.8	220.0	
	VIII Semester				
	Inplant Training Industrial (Evaluation)	15	9.4	141.0	
THE PERSON NAMED IN	Inplant Training (Report+ Viva-voce)	15	15 Satisfactory		

Grade Points obtained : 1361.9

Credit Completed : 165

Cumulative Grade Point Average (CGPA) : 8.25

Equivalent Percentage of Marks & Class : 82.50 First

* = Passed by Grace Marks

R = Repeat

1. 8.50 and above : First Division with Distinction

7.50 to 8.49 : First Division
 6.00 to 7.49 : Second Division
 5.50 to 5.99 : Pass class

PARBHANI

DATE: 1 1 JUL 2017

DEPUTY REGISTRAR Deputy Registrar (Academic) VNMKV, Parbhani

Vasantrao Naik Marathwada Agricultural University, Parbhani वसंतराव नाईक मराठवाडा कृषि विद्यापीठ, परभणी

(Maharashtra State) INDIA

TRANSCRIPT

FACULTY OF AGRICULTURAL TECHNOLOGY

Name of the student: Raut Shyam Sudhakar

Institution : Sau.K.S.K. alias 'Kaku'

College of Food Technology, Beed

Year of Admission: 2013

Registration No.: 2013 FT 48 B

Year of Leaving: 2017

Medium of Instruction: English

Course: Bachelor of Technology

(Food Technology)

COURSE NO.	TITLE OF THE COURSE CREDITS REI		GRADE POINTS REDUCED TO 10 POINTS	CREDIT POINT (CREDIT X G.P)
	I Semester			
FST-111	Principles of Food Processing	3	8.2	24.6
FST-112	Food Production Trends and Programmes	2	7.9	15.8
FCN-111	Biochemistry	3	8.1	24.3
FCN-112	Food Chemistry-I	3	8.5	25.5
FE-111	Engineering Drawing	1	8.8	8.8
FE-112	Fluid Mechanics and Hydraulics	2	8.5	17.0
FIM-111	Fundamentals of Microbiology	3	7.7	23.1
	II Semester			
FST-123	Post Harvest Management of Fruit and Vegetable	3	8.3	24.9
FST-124	Cereal Processing	3	8.6	25.8
FCN-123	Food Chemistry-II	3	7.7	23.1
FCN-124	Human Nutrition	3	8.5	25.5
FE-123	Energy Generation and Conservation	3	7.8	23.4
FE-124	Heat and Mass Transfer	2	9.1	18.2
FIM-122	Food Microbiology	3	84	25.2
	III Semester			
FST-235	Legume and Oilseed Technology	3	7.9	23.7
FST-236	Meat, Poultry and Fish Technology	3	7.8	23.4
FST-237	Wheat Milling and Baking Technology	3	6.9	20.7
FST-238	Confectionery Technology	2	7.6	15.2
FCN-235	Techniques in Food Analysis	3	8.3	24.9
FE-235	Food Processing Equipments-I	3	8.5	25.5
FE-236	Food Packaging	3	7.5	22.5
FIM-233	Fermentation and Industrial Microbiology	3	7.7	23.1
	IV Semester			
FST-249	Fruit and Vegetable Processing	3	9.5	28.5
FST-2410	Food Quality	2	8.1	16.2
FST-2411	Processing of Milk and Milk Products	2	7.8	15.6
FST-2412	Spice and Flavor Technology	3	7.3	21.9
FCN-246	Food Additives	3	7.8	23.4
FCN-247	Environmental Science	3	7.3	21.9
FE-247	Food Processing Equipments-II	3	8.3	24.9
FIM-244	Food Safety and Microbial Standards	3	8.5	25.5